Welcome To Rajshree Ayurveda

www.rajshreeayurveda.live

RAJSHREE AYURVEDA

Content

///ww.raishreeavurveda.live

- About Us
- Why Should You join Rajshree Ayurveda?
- Plan
- Terms And Conditions

About Us

Rajshree Ayurveda Manufacturers Ayurvedic products. Rajshree Ayurveda provides 100% result because they use pure herb. This is running successfully from last 11 years.

Why Should You join Rajshree Ayurveda?

First time in history that product base system provides Non - working and Royalty income.



Joining Package:- 2000 Rs. -> 100%

Admin Charge	Referral Income	Level Income	Global Income	Royalty Income
700 Rs.	500 Rs.	300 Rs.	300 Rs.	200 Rs
35%	25%	15%	15%	10%

REFERRAL INCOME



WHEN YOU SPONSOR ANY MEMBER THEN COMPANY WILL GIVE YOU 500 RS/- (25%) PER MEMBER REFERRAL INCOME



LEVEL INCOME

Plan

Level	Income	
1	20%	
2	20%	
3	10%	
4	10%	
5	10%	
6	7.5%	
7	7.5%	
8	5.0%	
9	5.0%	
10	5.0%	

GLOBAL INCOME



		leam	Amount	Turnover	Upgrade	Income
1	2	2	300	600	300	300
2	4	4	300	1200	600	600
3	8	8	600	4800	2400	2400
4	16	16	2400	38400	19200	19200
5	32	32	19200	614400	307200	307200
6	64	64	307200	19660800	9830400	9830400
7	128	128	9830400	1258291200	629145600	629145600
8	256	256	629145600	161061273600	000000000	161061273600



ROYALTY INCOME

PAIR	
50 - 50	30%
100 - 100	15%
200 - 200	10%
500 - 500	10%
1000 - 1000	7.5%
2000 - 2000	7.5%
5000 - 5000	5%
10,000 - 10,000	5%
25000 - 25000	5%
50,000 - 50,000	5%

REPURCHASE PRODUCT INCOME REPORCHYSEL RODOCI INCOME



Purchase Income:- 1000 Rs. Joining -> 100%

Admin Charge	Referral Income	Level Income	Global Income	Royalty Income
400 Rs.	200 Rs.	150 Rs.	100 Rs.	150 Rs
40%	20%	15%	10%	15%

REFERRAL INCOME



WHEN YOU ANY DIRCT TEAM MEMBERS REPURCHASE THE PRODUCT COMPANY WILL GIVE YOU 200 RS/- (20%) FROM ANY MEMBER



LEVEL INCOME

Plan

Level	Income	
1	20%	
2	20%	
3	10%	
4	10%	
5	10%	
6	7.5%	
7	7.5%	
8	5.0%	
9	5.0%	
10	5.0%	

GLOBAL INCOME



Repurchase Income:- 1000 Rs.

Team	Amount	Turnover	Upgrade	Income
2	150	300	150	150
4	150	600	300	300
8	300	2400	1200	1200
16	1200	19200	9600	9600
32	9600	307200	153600	153600
64	153600	9830400	4915200	4915200
128	4915200	629145600	314572800	314572800
256	314572800	8053063800	000000000	8053063800

ROYALTY INCOME



PAIR	
50 - 50	30%
100 - 100	15%
200 - 200	10%
500 - 500	10%
1000 - 1000	7.5%
2000 - 2000	7.5%
5000 - 5000	5%
10,000 - 10,000	5%
25000 - 25000	5%
50,000 - 50,000	5%

Terms And Conditions

- > 12 Percent Deduction on every income.
- ➤ 7 percent admin charges.
- ➢ 5 percent TDS.
- No any deduction on Referral Income
- ➢ 60 Rs. Shiping Charges for all over India.



For More Details Visit Our Website

